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( ‘{*"ﬂ Ch1 Lab Results - Descriptive Statistics

C;l. Enter data, calculate sum and mean.

] —
DATA LIST FREE/ @ \J &_r . G"LQ WP XS .\(/é
BEGIN DATA /
20 17 19 15 19 18 14 21 2 j
END DATA.

Mean = 17.8750
Std. Dev. = 2.4164614

DESCRIPTIVES sat /STATISTICS = SUM. N=8
N Sum
SAT 8 143.0000 =~ Z‘[ >
g
*2. Create a frequency distribution. 31
o
| =
FREQUENCIES sat /HISTOGRAM. -
Freq Perc Cumulative Perc
Valid 14.00 1 12.5 12.5
15.00 1 12.5 25.0
17.00 1 12.5 37.5
18.00 1 12.5 50.0
19.00 2 25.0 75.0
1 5 5
1 5

20.00 12. 87. 0 T

21.00 12. 100.0 14 15 21
Satlsf cti

Total 8 100.0  100.0

*3. Calculations for SS and other squared deviations.

COMPUTE satdev = sat — 17.875.7 7Y

COMPUTE satdev2 = satdev**2. —_ ._,-Y-) Pb;;ﬁ'.g bdl\""“"—‘
>
LIST sat satdev Cétdl)
s SAT SATDEV SATDEV2
\ :7 .0000 2.1250 4.5156
(7 ‘,r’17 0000 -.8750 .7656
Q? 19.0000 1.1250 1.2656

15.0000 -2.8750 8.2656
19.0000 1.1250 1.2656

18.0000 .1250 .0156

14.0000 -3.8750 15.0156

21.0000 3.1250 9.7656 — =
5Te TZoqed W=

*Compute deviations from values other than Mean. Compare sums.
COMP sdevl7 = sat - 17. VY-\7 2

COMP sdevl72 = sdevl7**2. (_\-I-\"D

COMP sdevl92 = (sat — 19)**2. L"-I-"IC'D

DESCR satdev sdevl7 satdev2 sdevl72 sdevl1l92 /STAT = SUM.

N Sum _—\ = -
sdev 8 0.00 == Oo 7S ) Ko FTE
sdev17 8 7.00 Zly—(7) F - “
sdev2 8 40.875 — - -
sdevl172 8 47.00 } 2(“(-‘vr> =D _SQ -- 17 h"‘q"
sdev192 8 51.00 24{‘3351—759 Lg%
*4. Calculate variance and standard deviation. Compare to DESCRIPTIVE output.
—_— —
DESCRIPTIVES sat. Nz =& =% = - S3.
N Minimum Maximum Mean | Std. Deviation - w—L
SAT 8 14.000 21.000 17.875000 2.4164614
UoS T
_ = -\
*5. Mean of all YS = = 15.0, SD of ys = 2.0/V8 = .707.
.u.r:t< "'/ ‘E,? M "] T~ <J'~{
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